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Dim. A Dim. 8 R Dim. A R
Model mm (inches) mm (inches) ('CXV) Model mm (inches) (° XV)
60988 - - - - - 2540 (1.000) - ---senmemeeeaeannnn 140 ML73/ - - meeee 25(984) - --eneenenennn 14.0
60998 - - - - - 38.10(1.500) - ---- - 25.40(1.000) ----- 1.0 ML73/1.5--------nn-- 38(1.50) ------eieemannn 1.0
61008 - - - -- 50.80 (2.000) - ----- 25.40(1.000) ------ 9.0 ML73/2---cvcaemannn 50(1.97) -----eeemmenann 9.0
6101B ----- 63.50 (2.500) - ----- 25.40(1.000) ------ 71 13
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Notes: (6098 Series) To order optional solderable roll .‘%’2 20— =2 2L ML73 Series b &
pin with shoulder, add *PZ" after model mum- 58 o P] 025 1720
ber, .g. 6098B-P2. Shoulder washer is 1.27 +.38. T & 7 0 Y L88)
.13(.050 +.015/-.005) thick. These parts are also HEAT DISSIPATED - WATTS = ;—n o 320 [Ty
avatlable without roll pins: 60908 is 25.40mm "(12) —j
(107 tall without roll pins, 60918 is 38.1omm ~ ®60%8 @60 © 60 Dsi0n —
(1.57) tall without roll pins, and 60928 is ML73N ML 5 ML732 Bu o
50.80mm (2.0”) tall without roll pins. See infor- a0 ﬁ?— (937‘“
mation on roll pins on page A28, f _]
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The Productivity Enhancements shown in the (72)

circles above are for use with the 6098 Series only
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